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a) 231.72 yd2 b) 186.2 yd2 c) 250.22 yd2

Which of the following is the area of an Isosceles triangle?4)

5) Which of the following is the area of an Isosceles triangle?

c) 317.56 in2308.25 in2a) 314.48 in2b)
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A triangular tool in Brandon’s painting kit has 10-inch sides and an 8-inch base.
What is the area?

The triangular wall mirror in Nicole’s hotel room measures 36 inches by 36 inches. What
is the area if the base is 28 inches?  
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Find the area of each isosceles triangle. Round your answer to two 

decimal places.
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